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. {2) Use six rectangles to find estimmtes of each type for the
arca under the given graph of ffrom x = 0w .x = {2,
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(1) Ly (sample points arc lefl endpoints)

(ii) Ao (sumple points are right endpoints)

(iiD M, (sample points are midpoints)
{b) Is L, an underestimate or overestimate of the tnte
(¢) Is R an underestimate or overestimate of the true ar

d) T, =

1. Evalume the Riemann sum for f{x) =2 ~x 0= x =2,
with four sebintervals, tuking the sample points 1o be right
endpoints. Explain, with the aid of a diagram, what the
Riemann sum represents,
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7. A table of values of an increasing function f is shown. Usetk
table o find lower and upper estimates for _;‘;5 T{x)dx.
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30, The graph of g consists of two straight Hines and semicircle.
Use it to evaluate each integral,

(b Lo g{x) dx

. R
(a) L: gtx) dx (c) Jn glx) el

43~ 114 = Wrile the given sum or dlﬁelence us a single mlenml in
the form |* F(x) d¥.

. | flyde + [0 dx + [ ax

44, J;mf(.\‘) dy — ":-f{_\.) dy

2 a ° 0 a . . .

B, If [} f(x)dv = 1.7 and [¥f(x) dv = 2.5, find s f‘(\)- .
4. X[ de =2, 1) di = 6, and [} f(ydr = 1, find
i Fin dr.

5-46 O Use Part | of the Fundamentat Theorem of Calculus
the derivative of the function.
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8. F(x) = |'2 cos(r*) di

B
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12, hlx) = |U‘ J¥F r’di%
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17-34 11 Use Part 2 of the Fundamental Theorem c'al' Calculus o,
evaluate the integral, or explain why it does not exist.

75, L’ JITF 2dx

pafd
sin f ¢t
/4

3z, r sec’f df
i

8. ’ (0 + 20 dy

1-8 ¢+ Find the average value of the function on lhe given imierval.
L) =x% [-1,1]
3 glx)=rcosx, [0, w/2]
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